it}
S
Q—I—I
(-
N2
-
]
<
| 1

4 (3888 & 15 )

147 &
e R I -72.0
2 50 50 ) 50 003 oY os ‘ HS2
FEEEFEFEEE ﬁﬁ%f
RERERPARA P H41 | H42
BHOBBEBEBEBE e
i= H51
YT VB 1% ¢
AR AR B AR A A% A0 AL 16.1 K11 K12
F++nt=AA -
tAROEFE++ |
FEE-===F E
===RRARA&= |
SRAB===—H |
==_+++RZ ‘
+++——B=+ » ! L
——nB8 +& . | 59 3 seaz SAs O
588 10 D N S N N -=a vy T} 3 =T @jE%
H ¢ K s 2.5
e
6.7
R
5 5 )
FEF
B A
sf=i=
T
AR AR
N
++7
N .
FE=
BE=
++—
——8
=h=
5.
*5.94
=
- 6.01
5
7
i
A I
73
-
= 6.2
Fan
@ 72 32 | K /; 2 N772.3 H}j
B ¥ B 56 #1873 BB R OFIR Z > BREE 5 ERE 7 ARFEDRAERRU
2l BF 58 £ 3 A F—RTS5IA7 RFLATOVI—AB sERME 1 m 1:500 ;\égﬁg;ﬁf‘f;ﬂf@ii;"gig%gBﬂggﬁ%%i%%; H 5 2

0 10 20 30 40 50 100m
Crrrrrrorrrd i i i i ‘ ‘ ‘ ‘ |




